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1. fERE4Es - (1047)
a. The elasticity of substitution (2% )
b. The second degree of price discrimination ( 2% )
c. Opportunity costs (2%)
d. Transactioncosts ¢ 2%)
e. Pareto efficiency ( 23
2. Riii S EiE R (inefficiency)&ER 7 (10 53)
3. {aEBE M #EE(risk aversion) ? AR EH A FHREER(RRARTHTE RS
2%F)  RipEREgREek’S ? (10 77)
4. HEE A FE—AUFEEEE (a net lender) + JHEEE B RIE—AUFEFCE(a net
borrower) & R E IS T el B AT B HEEN BEL I GEEMERZE ?

IR K EE IR B X ] 7 (10 27)
5. BERARERU(x,y) (REEETHT) ﬁ%‘b%pxﬂpyy m > SRR

BEBRENTE(EE » DUR—PEREF - (10 57)
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6. (30 pts) Consider the following public good problem, where MB,; and MBj are the
marginal benefits of the public good for consumers A and B. MC is the marginal cost

of producing the public good.

MC MB e

MBp
MB,

v
(W)

(a) (10 plé) Please add any nccessary lines to identify the optimal provision of a
public gdod. |

(b) (10 pls) Please explain the (’1'eé-1'id01"problem.

(c) (10 pts) Will private markets over-provide or under-provide public goods? Why?

7. (20 pls) Please find all pure Nash equilibria in the following game. Player 1 can

play B or S. Player 2 can play B, S or X.

Player 2
B S X
B3 4,2 © 0,0 . 0,1
Player | '
S 0,0 2,4 1,3




